FUBAG DS 14000 DA ES (838214)

3] / N 4
s/ A_%L/ i/ \m ﬂ?\ﬂ 1] B2
HOMED
KO HaMEHOBaHHE KOJI-BO
/T
1 2021001227016 JIBUraTesb 1
) 30402202250] | KPpilIKa reneparopa (mepenHss) 1
0225
3 204422913002 porop 10kW 1
204352914003 crarop 10kW 1

3aIUTHBIN NIOSIC TEHEpaTopa

5 | 304032180000 0225%180 (729%169)

6 304023022501 KpBIILIKA 3a1Hss (0225 1
7 304070190001 6ont potopa 10.6%28*3 1
8 304020022500 LIETKH YrOJbHbIE 1




9 304040024000 6ot cratopa 'M8x240~250 4
10 306590310100 MIPOBO/JI T€HEpaTOpa 1
11 304024022500 KpBILIKa 1
12 304036030700 6ont poropa M10x%1.25%307 1
13 304053000003 pa3bem nposoja 160~@225 1
14 307030230201 KPBIIIKa TOIUTMBHOTO Oaka 1
15 307030230400 Yalika TOIJIMBHAs 1
16 302030160200 BTYJIKa 8
17 302030160100 KOJIOZIKA U30JIALIUN 10
18 304026315001 ABP 15kW 1
19 467160000100 XOMYT 2
20 302011001700 TPyOOIPOBOT TOTUTMBHBIM 500mm
1 285011617501 poBOJ (KpacHbIil) Oatapen 1

850mm
22 307430220200 TUTACTHHA 1
23 307430120200 OOKOBasl MJIacTUHA reHepaTopa 1
24 305476000201 KOHYC PE3UHOBBII 2
25 307430110100 paMKa KBaJipaTHast 1
26 211071700100 TJIOIIAJIKA ITyCKOBast 6
WH/IUKATOp YPOBHS TOIUINBA
27 | 307030230302 oMM 1
28 307430230118 TOTUTMBHBIN OaK 1
29 302011001300 32)KUM JIMHUU BO3BpaTa Macia 2
30 301061100400 TpyOa ToruBHas ©4.5%8.5 280mm
31 307430130119 MJIacTUHA 1
32 307430130500 KHOMKa 1aBepu (6e3 3amka) 1
33 307430250200 I1acTuHa 6arapeu 1
34 307190250300 oot 2
35 285061503005 pyKaB poBojia (4epHOro) 1
36 285061504008 npoBoJI (4epHBIiA) 6aTapen 1
37 285061503004 pyKaB mpoBoja (KpacHOTO) 1
38 306000300400 AKB 1
39 211090100600 MIPOKJIAJIKA PE3UHOBAs 1
40 307430130400 mapHup (Masblii) 2
41 307430130719 KPOHUITEHH 1
42 307430130300 KPBIIIIKA 33 THSSI 1
43 307430120300 MJIacTUHA 1
44 307430120100 IUIaCTUHA OOKOBast 1
45 306000200109 4" xoneco ¢ TOpMO30M 2
46 306000200108 4" ukcupyromme Koieca 2
47 307430130200 KPpBIIIKa epeaHss 1
48 305502227274 HaHelb 1
49 305022201601 THE3/10 2
50 305104151605 pozetka 16A 415V 1




51 305280000002 | 6GonaT 3azemiustouii M6*22mm 1
52 305273330201 TepMuHalI yepHbd AC 1
53 305273330101 TepMuHai kpacHblii AC 1
54 5030140000051 nucruiet 502 1
MHIMKATOP CBETOBOM (3€JIEHBIN
55 5022001402201 MFI))X-14 (220(\/) ) 1
MHAMKATOP CBETOBOM (KpaCHBIM

56 | 5022001401201 vt
57 305260300101 3aMOK 3JIEKTPUUYECKHUI 1
58 305170530153 BBIKJIIOYATEIb 1
B1 402100300160 6ont M10*30 4
B2 432100000100 nraitda npy>XxMHHAS 13
B3 402050160160 6ontr M5*16 5
B4 434060000201 nraii6a 3youaras 2
B5 404060120120 6ot M6*12 13
B6 432080000100 maida npy>xuHHas 4
B7 431080000100 maiida 4
B8 402060250160 6ot M6*25 4
B9 431060001100 maiba 20
B10 | 402060120160 6ot M6*12 12
B11 | 411040250120 BUHT M4%*25 4
B12 | 402060200160 601t M6*20 2
B13 | 422060000120 raiika M6 6
B14 | 402050120160 6ontr MS5*12 2
B15 | 421100000120 raiika mecturpassas M10 12
B16 | 431100000100 naiba 12
B17 | 402100450160 601TM10*45 2
B18 | 427060000120 raiika M6 2
B19 | 422050000120 raiika M5 8
B20 | 424060000220 raiika mecTuyrojibHuka M6 1
B21 | 431060000100 maiida 4
B22 | 402060500160 6ot M6*50 4
B23 | 402100250160 6ont M10*25 4
B24 | 402080160160 6ot M8*16 16




FUBAG

DS 14000 DA ES (838214)

HOMep
n/n KO HAaNMEHOBaHHe KOJI-B(

1 302100110000 KapTep JABUTaTels 1
2 302100103700 MOAIINIHAK KOHTAKTHBIN 2
3 302100100301 nipoBon [ 1
4 302100100401 nposon 11 1
302100103700 MOALIMIHUK OCHOBHOM 2
302100100500 HOIUIUITHUK MaXOBHKa 2

5 302100400600 MOJIINIHUK (CpeaHMii) 2
6 302100100600 OJIOK aJIFOMHUHHUEBBIN 4
7 302100100700 KPBILIKA HUKHSIS 1
8 302100100800 IIPOKJIAJKA KPBILIKU HYKHSS 1
9 302100100900 npoOKa CIIMBHAs 2

MPOKJIaKa MPOOKU CIIMBHOTO

10 302100101000 OTBEPCTHUS 2
11 302100101100 KpBIIIKa OOKOBast 1
12 302100101200 MPOKJIaJKa OOKOBOI KPBITIKU 1
13 302100101300 KPBIIIKa MACJISTHOTO Hacoca 1
14 302100101400 KPBILLIKA CTOMKH 1
15 302100101500 MPOKJIAJIKA KPBIIIKH CTOMKH 1
16 302100101600 KpBILIKA 1
17 302100101700 MIPOKJIA/IKa KPBIILIKK 1
18 302100101800 buTHHT 1
19 302100101900 NpOKJIaaKa GUTHHTA 1
20 302100102000 TpyOKa 1
21 302100102100 LIITAJIBKA FOJIOBKH LIMJIMHAPA 8




raiika (ToJsictasi) rOJIOBKH

22 302100102200 LHUJIUHAPOB 4
raiika (TOHKasi) TOJIOBKH
23 302100102300 LHUJIUHAPOB 4
MPOKJI/IKa TOJIOBKHU

24 302100102400 LHUJIUHAPOB 8

25 302100102500 MaH)XeTa OOJIbIIast 2

26 302100102600 MaH)KeTa MaJICHbKas 4

MPOKJIaIKa (CTabHAS)
27 302100102700 TOTIJIMBHOTO HAacoca 1
302100102810 (0.1)

28 302100102850 (0.5) | mpokiaaka peryjiupoBOYHAs

29 302100102900 BTYJIKA IIaTyHa 2

30 302100103300 JaTYUK YPOBHS Macia 1

31 401060350160 oot M6*35 1

32 401060500160 6ot M6*50 10
33 421080000120 raiika 8 2

34 401050160120 oot M5*16 3

35 402060200160 6ot M6*20 10
36 402060250160 oot M6*25 15
37 402060300160 6ot M6*30 1

38 402080160160 oot M8*15 2

39 402080300160 6osT M8*30 2

40 431060000100 maiiba 6 20
41 448040008010 KOHTAaKT 4*8 1

42 461013201901 O-KOJIBITO 8

43 461038002650 O-KOJbIIO 4

44 461040001800 O-KOJIBITO0 1

45 467160000100 XOMYT 2

46 462385208200 cagbHHK 38x52x8 1

47 462385208000 cagbHUK 38%52x8 1

48 402060160160 6ot M6*16 4

49 402080250160 6ot M8*25 4

50 302100103400 Tajell 3

51 421060000120 raiika 6 11
52 401100161560 6ot M6*25 4

53 302100103200 00pyH npaBbIit 1

54 401100161560 oontT M10x16 1




HOMED

n/n KOJ HaUMEHOBAHUE KOJI-BO
1 302100200100 32)KHUM KJIaniaHa OJIOKHPOBKHU 8
2 302100200200 KJIallaH NpY>KUHbI 4
3 302100200300 MIpYy’KMHA KJarnaHa 4
4 302100200400 MPY’KMHA HUKHETO KJlarnaHa 4
5 302100200500 KJIanaH BITYCKHOM 2
6 302100200600 KJIallaH BBIITYCKHOM 2
7 302100200700 CynmnopT Bajla KOpOMBbICTIA 2
8 302100200800 KOPOMBICJIO 2
9 302100200900 KOPOMBICJIO BITYCKHOTO KJIariaHa 2

KOPOMBICJIO BBIITYCKHOT'O
10 302100201000 KJjlanaHa
11 302100201100 BHUHT PETYJUPOBOYHBIN 4
12 302100201200 raiika peryJupoBOYHas 4




302100201303 (0.3)

13 1302100201305 (0.5) MPOKIIAJKa TOITHBHAs
302100201312 (1.2)
14 302100201400 MJIaCTHHA 2
15 302100201500 KpBIIIKA TOJJOBKU IUJIMH]IpA 2
16 302100201600 MPOKJIAJKA BITYCKHOU TPYOBI 2
MIPOKJIaJIKa TOJIOBKH OJ0Ka
302100201703 uuauHApoB 0.3mm 2
MIPOKJIAJIKa TOJIOBKH OJ0Ka
302100201704 MHIpoB 0.4mm 2
MPOKJIaKa TOJTOBKH OJI0Ka
302100201705 IMHIpoB 0.5mm 2
MIPOKJIAJIKa TOJIOBKH OJ0Ka
302100201706 nuIrHApoB 0.6mm 2
MPOKJIaKa TOJOBKH OJI0Ka
302100201707 MHIpoB 0.7mm 2
MIPOKJIaJIKa TOJIOBKH OJ0Ka
302100201708 uuauHApoB 0.8mm 2
MIPOKJIJIKa TOJIOBKH OJ0Ka
302100201709 MHIpoB 0.9mm 2
MIPOKJIaJIKa TOJIOBKH OJ0Ka
302100201710 uuauHApoB 1.0mm 2
MPOKJIAJIKa TOJIOBKH OJ0Ka
302100201711 nUIMHAPOB 1. Imm 2
MPOKJIaKa TOJTOBKH OJI0Ka
17 302100201712 MIMHIPOB 1.2mm 2
18 302100201800 MPOKJIA/IKA TIYIIUTENIs 2
19 302100201900 raika riIylmuTens 3
20 302100202000 LWJIMHJIP 2
21 302100202105 MPOKJIaJAKa UINHAPA 2
22 302100210001 rojIoBKa 0JI0Ka IIUIUHAPOB 2
23 302050200600 MTPOKJIAJIKA KJIanaHa 4
24 402080450181 OOJIT KpeTexHbII 4
25 422080000120 raiika 8 6
26 435080000500 nraiida 8 2
27 301180412000 IINWIbKA TOJIOBKH IIMJIMH]IpA 8
28 445080360120 HINWIbKA TOJIOBKH LIWJIMH]Ipa 2
29 438160010500 maiiba 4
30 448050040530 najei 2
31 302100202300 BaJl KOpOMBbICTIA 1
32 302100202200 KPIOK IIJIOCKUM 1
33 422080000120 ¢dnanen 8 1




HOMED

1/ KOJI, HAMMCHOBaHHUE KOJI-BO
KPBIIIKA TOJIOBKU
1 302100300100 LAJIMH]IPOB 2
2 302100300200 npoOKa CIIMBHAs 2
3 461025001800 O-KOJIBITO0 2
4 405080300520 oot 4




HOMEp

/o KOJI HanMEHOBAaHUE KOJI-BO
KOJIBITO TIEPBOE
1 302100400100 MOPILIHEBOE 2
KOJIBIIO BTOPOE
2 302100400200 MTOPIIIHEBOE 2
3 302100410000 KOJIBIIO MACJISIHOE 2
4 302100400300 MOPILIEHb 2
5 302100400400 naJiel MopuIHs 2
3aKHUM TOPITHEBOTO
6 302100400500 majblia 4
7 302100420000 maTyH 2
MMOAIIHNITHAK IIIeHKH
8 302100400600 IaTYHHOU 6




HOMED

/1 KOJI HAUMCHOBaHUE KOJI-BO
1 302100500100 raiika MaxOBHKa 1
maiba raiku
2 302100500200 MaxXOBHKa 1
3 302100500300 MaXOBHK 1
HIECTEPHS
4 302100500400 MaXOBHKa 1
302100510101 konenBai FG1 1
302100510102 koJsieaBan FG2 1
5 302100510122 KoyicHBan F2 1
6 302010520200 | mapuK cTaJbHOU 4
7 451006001610 KJII0Y TIOCKHH 1




HOMED
/1 KOJI HaNMEHOBAaHUE KOJI-BO
MPOKJIaJIKa pacupeBaia
1 302100600100 pEeryJIMpoOBOYHAS 1
2 302100600200 pacpensall 1
3 302100600400 TOJIKATEIb KJanaHa 4
4 302100610000 KJIallaH [aTyHa 4




HOMEp
n/n KOJ HaNMEHOBAHHUE | KOJ-BO
1 302100700101 | TpyOa BoyckHas 1
MPOKJIaIKa
BO3IYIIHOTO
2 302100700200 ¢bunbTpa 1
bunsTp
3 302100710002 BO3TYILIHBIN 1
4 421080000120 raika 8 2
5 402080300160 | 6ot M8*30 2
HOMED
/11 KO HaVMEHOBaHUE KOJI-BO
1 raylwmnTenb 307430250100 1




HOMEp

n/m KOJ, HanuMCHOBaHHUE KOJI-BO
1 302100900100 dunbTp rpyboit oUNCTKU 1
2 302100900200 OCb MacnAHoro ¢pmabTpa 1
3 302100900301 60ANT (ANNHHDBIN) 1
4 302100900400 60nT (KOPOTKMIA) 1
5 439080000101 npoKknagKa 7
6 302100900600 AaTynK macna 1
7 302100910000 HAcoC MacnsHbIN 1

K/lanaH orpaHuyeHmn
302100920001 AaBneHuns 1
302100920002 Wwanba npy*KMHHanA 1
KnanaH
10 302100920003 npeaoxpaHuTebHbIN 1
LWApPUK CTaNbHOM KanaHa
11 302100920004 npeaoxXpaHNUTENbHOrO 1
12 438130020500 Wwarba npy*KMHHanA 1
13 466080000100 LIAPUK CTaNbHOM 1
14 302100930000 duUNbTP MacnsaHbIN B cbope 1
15 302100940000 Tpyba macnaHan 1
16 302010120002 [aTyYnK AaBAeHUsa macna 1
17 302100900701 601T (KOPOTKMIA) 1
AeprKaTeNb MacNAHOIo
18 302100900800 dunbTpa 1
19 490142800110 6ont M14 2




NpPOKAagKa MacnaHoro
20 302100101000 paguatopa 6
21 302100980003 Tpy6a 590 1
22 302100980002 Tpy6a 750 1
23 302100901101 paamaTop MacaAHbIN 1
24 461060002650 O-Kkonbuo 1
KPOHLITEMH MaCcNAHOro
25 302100901302 pagunartopa 2
26 402060160160 6ontT M6x16 4
27 431060000100 Wwanba 6 4
28 432060000100 Npy*KnHa 6 4
29 422060000120 dnaHey 6 4
30 402060120160 6onT M6%12 1
31 402100160160 6onT M10x16 1
32 302100970100 NNaCTMHA BEPXHAA 1
33 302100901400 cynnopt 1
34 302011001700 TONAMBOMNPOBOA, 40
35 302100970200 NAACTUHA HUXKHAA 1
36 421060000120 ranika 6 1
19, 20, A




HOMED

/11 KOJI HalMEHOBaHHE KOJI-BO
1 302101000100 TOJIKaTeNIh TOIIMBHOI'O HAacoca 1
2 302101000200 CeJUI0 TOIUIMBHOI'O Hacoca 1
3 302101000300 MPOKJIa/IKa TOTUIMBHOTO HAcOCa 1
4 302101000400 [IJIAHT TOIUIMBHLIN 1 1
5 302101000500 [IJIaHT TOIIUBHBIN 11 1
6 302101000600 TpyOa BBICOKOTO JIaBiieHus | 1
7 302101000700 TpyOa BBICOKOTO naBieHus 11 1
8 302101000800 LUTAHT BO3BPATHBIN 1
9 302101000900 CYHIOPT TOIUTMBHOTO (PrutbTpa 1
10 302101030000 HACOC TOIIMBHBIN 1
11 302101040000 (WIBTP TOIUIMBHBIN 1
12 302101050000 THB/] 1
13 302101060000 (dbopcyHKa TOTUTMBHAS 2
14 405080250160 6ot M8x25 2
15 402060160160 oot M6x16 3
16 461016001800 O koo 16%1.8 1
17 422080000120 raiika 8 3
18 402080250160 oont M8x25 3
19 474060000120 raiika 6 2
20 211090100900 00T PUKCHUPOBAHHBIN 2
21 402060220160 60T M6x22 2




HOMEp

/1 KOJ HAMMCHOBAaHUEC KOJI-BO
1 302101101600 6ont 1
2 302101101501 ramka 1
3 302101110000 Ba/1 peryaatopa CKOpoCTH 1
4 461009001800 O-konbuo 2
5 436090000500 wanba 9 1
6 302101100700 KPOHLUTEMH KOHTPONA CKOPOCTU 1
7 401060250120 6onT M6x25 2
8 421060000120 ramka 6 2
9 402080160160 6onT M8x16 1
10 302101100800 Npy*KMHa BO3BpPaTHaA 1
11 302101100900 Perynarop CKOpocTu 1
12 431120000100 warnba 12 1
13 431060001100 warba 6 1
14 402060100160 6onT M6x10 2
15 302101101200 PYKOATKA 1
16 302101101300 NPY*KUHA KpydeHUn 1
17 302101130000 Ban 1
18 461003151800 O-konbuO 1
19 302101100400 LUTOK BUJIKK 1
20 450012008230 naney, 1.2x8 2
21 302101100600 NPY*XMHA CTabnnmsaumm CKoOpocTm 1
22 302101100200 YPOBEHb KOHTPOA CKOPOCTH 1
23 302101100100 CABWUT BUNKMU 1
24 302101120000 CTepKeHb TOM/IMBHbIN 1
25 450016012230 naney, 1.6x12 2
26 302101100300 BMHT KpeneXHbIn 1
27 302101100500 NPY*KMHa 1
28 424040000220 ranka 4 1
29 450012012230 naney 1.2x12 1




401060400120

6ont M6%x40

4 7 78 10, 12
Homep

n/n Koz, HanmeHoBaHue KON-BO

1 302101200100 KpPOHLWTENH 1

2 302101210000 npueog, 1

3 302101240000 perynatop 1

4 402080400160 6ont M8*40 2

KpbILWKa perynatopa

5 302101200200 HanpAXeHuA 2

6 302101230000 CcTapTep gsuratens 1

7 402100300160 6ont M10*30 2

8 302101220000 MaxoBMK reHepaTtopa 1

9 406060200580 BMHT M6*20 3
10 424060000220 ramka 6 3




11 405060300520 6ont M6*30 5
12 302011600600 3a)KMM NpoBoAa 1
HOMED
n/m KOJ HAaUMEHOBAHHE KOJI-BO

1 302101300102 nedIeKTOp BIyCKHON 1
2 302101300202 KPBIIIKa BEHTHISATOPA 1
3 302101300302 IJIaTHHA NIEpeIHss 1
4 302101300402 I1acTUHa OOKOBas 1
5 302101300502 IUTACTHHA 33 Hss 1
6 402060120160 oot M6*12 12
7 405060140520 oot M6*14 3
8 405060200560 60T M6*20 1
9 421060000520 raiika 6 4
10 402080160160 6ontr M8*16 2
11 411060120120 BUHT M6%12 1




